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(1). £(0) # 0

(2). fF(1) =3

(3). $t2 L K Hea,b > § f(@f (D) = fla+b) + f(a—Db)
#RF(f(2 & -

[~ 2%]

Fla fOf00)=fQ)+fQ)=3f0)=6= f(0)=2
fOfQ)=FfQ)+f(0)=3x3=f(Q)+2= f(2)=7
fRfO)=fQ+f1)=7x3=1f(@)+3= f(3)=18
fR)f@Q)="f()+f(2)=18x3=f(4)+7= f(4)=47
f(A)fQR)=f(7)+f@Q)=47x18= f(7)+3= f(7) =843
fR)f(2)=f(B)+fQ)=18x7=f(5)+3= f(5)=123
f(5)f(4)=f(9)+ f(1) =123x47 = f(9)+3= f(9)=5778
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X —x3—x?—x+5=0> H"¥ x8 % #H

= 2x® —2x3 - 2x2-2x+10=0
= x—=3x2+2)+(x®—-2x3+ 1)+ (x?2—-2x+1) = -6

B0 (- D22 +2)+ (P - DP+ (x—1)? = -6
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